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Marks: 80

________________________________________________________________________

This paper consists of four sections.

Section A – Reading

20 marks

Section B – Writing

20 marks

Section C – Grammar

20 marks

Section D – Literature

20 marks
Instructions:
1. Attempt all questions.

2. Do not write anything in the question paper.

3. All the answers must be correctly numbered as in the question paper and written in the answer sheet provided to you.

4. Attempt all questions in each section before going on to the next section.

5. Read each question carefully and follow the instructions.

6. Strictly adhere to the word limit given with each question.  Marks will be deducted for exceeding the word limit.
A.1 read the poem carefully and answer the questions that follow.

IN LONDON TOWN

It was a bird of paradise,

Over the roofs he flew.

All the children in trice

Clapped their hands and cried,

“How nice!

Look – his wings are blue!”

His body was of ruby red,

His eyes were burning gold,

All the grown up people said, 

“What a pity the creature is not dead,

For then it could be sold!”
One was braver than the rest,

He took a loaded gun:

Aiming at the emerald chest,

He shot the creature through the breast,

Down it fell in the sun.

It was not heavy, it was not fat,

And folk began to stare.

“We cannot eat it that is flat!

And such outlandish feathers as that

Why? Who could ever wear?”

They flung it into the river brown.

“A pity the creature died!”

With a smile and with a frown,

Thus they did it London town:

But all children cried.

A1. 1 Complete the summary of the poem.

The children clapped and cried when (a) __________.

The grown ups wanted to kill the bird so that (b) ……………….

And one of the men © …………………………… and the bird fell down dead. Then they found that (d) …………………… . So they (e) ………………………………………. The poem highlights that while the children (f) ……………………………………….. the adults(g) ……………………….. . We learn from the poem that (h) ……………………………………….
A.2 Read the passage below carefully and answer the questions:

Children And TV

1. Satellite TV providing the viewing for 24 hours a day, is leading to an increase in the health problems in children. Leading neurologist Sanjay Batra states “Children are now glued for longer hours to the television leading to the increase in the PHOTO STIMULUS SENSITIVE EPILEPSY OR THE TELEVISION INDUCED EPILEPSY. Dr. Sanjay Batra advises the parents to limitize their children viewing the television or to give them the breaks at the regular intervals during the long spells of the television watching.

2. A recent study also showed an alarming trend of the sleep disturbances in children caused by the television viewing. Increased amount of the television also has the effect of the child becoming sleepy during the day time and thus affecting the health. It can lead to the other sleep problems such as difficulty in getting to and staying sleeping.

3. Public concern over the issue of the television watching has increased in the recent times with the reports of the fatal encounters of the children who have died as a result of imitating television heroes. However, much can be done to see that the children do not grow into desperadoes; parental intervention of viewing television is one of them.

4. Contrary to the popular belief that the cartoons are harmless, many studies show that they contain violent portrayals that make the children aggressive. Children are very impressionable and cannot tell the difference between the cartoon or the real violence. Studies in Kansas, USA, has proved that the children who watch the violent shows, even just “funny cartoons”, were more likely to hit out at their playmates, argue, disobey the class rules and leave tasks unfinished more often than those who watch the non violent programmes.
5. Programmes meant for the children are laced with violence which is not very discernible; for instance the domestic violence and the use of the brutal words. A recent study conducted by NCERT indicates that violence on the small screen can lead to aggressive behavior in children. Televised violence affects its viewers in three ways: learning aggressive attitudes, desensitization to the violence and fear of being victimized by violence. More often that not, the perpetrators of the violence are the role models for the kids. Gang fights which earlier used to be in the older age groups now are seen among the younger ones. Often the perpetrators of violence in the serials are left unpunished. While some bad characters may be punished at the end of the story, heroes rarely show any remorse or seldom criticized for bashing up the villain, often to the death. Watching do-gooders like cops inflicting violence in their line of duty may suggest to a child that violence is a desirable trait in life.

A.2.1 On the basis of the paragraph write the effects of the TV viewing. (8)
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TV viewing





 Effects


Long hours of TV viewing    


  (a) …………………………………..








  (b) …………………………………..

Imitating the TV HEROES


   © ……………………………………

Cartoon viewing




  (d) …………………………………..







  (e) …………………………………..







  (f) …………………………………..

Programmes laced with 

           (g) …………………………………..
Violence




           (h) ………………………………….

A2.2 Find the words or the phrases from the passage which means  the same as: (4)

a) Unable to stop watching something. (1)

b) Disturbing, causing anxiety. (2)

c) Someone who is very easily influenced by the people around him and by what he is told. (4)

d) Those who have committed a crime or the violent act (5)

SECTION B WRITING

B.1 You are the head boy\girl of the Modern public School. Delhi. You have attended a meeting of the principal and the teachers to start the summer coaching classes for the 10th, 11th and the 12th classes. Draft a notice and mention the timings, subjects’ and the extra fee for the same. It must be in 50 words (5)

B.2 Ganesh writes a letter to his father, given below. Later he decides to send the telegram. Read the letter and draft the telegram.

21, Gandhi Street

Burhanpur

June 28, 2004

Dear Father

I hope this letter finds you in the best of the health. I have to inform you that the engagement of cousin Vijay is fixed for July 9 in Mumbai. Uncle wanted you to attend the same. Mother says that you can reach Mumbai on the same date right from your tour. 

We will leave for Mumbai on July 8 night and will be staying at Hotel maharani at Dadar.

You can make your schedule accordingly.

See you at Mumbai.

With regards

Your loving son

Ganesh

B.3 Write an article for the school magazines on the introduction of the new gadgets. Take the help of the unit “Science”. 10
B.4 The excessive use of the fossil fuels have disturbed the ecological balance, it has resulted on the green house effect and lot of more ecological disturbances. Using your ideas and the unit “Environment” draft the letter to the editor of the paper on your views. 10
SECTION C GRAMMER
C.1 Complete the passage below with a suitable word.
 (1\2 x 8 = 4)
The saguaro is the giant of the cactus family, often reaching (a) ……… height of 50 feet. It is (b) ………..of the slowest growing plants. A saguaro may (c) ……. 20 to 50 years old when only a yard high.
The saguaro is the sky scraper of (d) ………. Desert plants.

After a downpour of the roots, which are only a (e) ……….. inches deep, soak up the moisture with wonderful efficiency, transporting hundred  gallons (f) ……. The saguaro stem. A mature saguaro weighs as much as 10 tones, four fifth or more (g) ……….. which is water. The largest saguaros have been found to be about 200 years old. Its fruit (h) …………….has a red pulp resembles that of a water melon.

C.2 Find an error, the first is done. (1\2 x 8 = 4)

Television they said is a boon, but is it really

said – say
So? I have nothing but trouble from this


a

Wonderful machine. My son fail his twelfth

b

Standards spending more time in front of it

Than study. My husband has quit his job and

c

Sits at home as that he doesn’t miss out on his

d

Favorite programmes. A machine is blaring

e

Out twenty four hours a day at a unbearable volume
f

In my home – its so loud that the neighbors never
g

Stop complaining. Whoever said a idiot box

h

Is a blessing?

C.3 Complete the conversation below. (4)

Raj : I just saw a movie “Lord of the rings”. (a) ……………. ?

Dev:  No, I haven’t. (b) ……………………….. ?

Raj: I haven’t read the book.

Dev: I read it last week. It is there in the school library.

Raj: Well, © …………………… it has won four Oscars.

Dev: (d) ……………………………too.

C.4 Read the headlines and fill the blanks. (3)
1. Cyclone kill over twenty.



About (a) ……………… in the remote villages



Of Orissa (b) …………………………..

2. Public schools hike fees



Many public schools in the capital …………………..



Their fess by at least ten percent.

3. Terrorists kill 10 in J & K.



five gun wielding terrorists (a) ………………………………



in the rajori district of (b) …………………..

C.5 Rearrange to form the sentences. 3
a) the water\leaves\the\lotus\quite\above\high\level\grow

b) of the\water\the\leaves\always\water-lily\on top\float

c) they\the flowers\on\stalks\short\ ,\ so\also\are\close\surface\water’s\to the\grow

SECTION D LITERATURE

1. Read the passage and answer the following questions.

Lightly. O lightly we bear her along,

She sways like a flower, in the wind of our song

She skims like a bird on the foam of stream

She floats like a laugh from the lips of the dreams.

a) Who are we? What are they doing?

b) Who does she refer to?

c) The speaker compares her to some objects. Mention any two.

d) Explain the line that she sways …….

e) List the two phrases which says the gentle movement of the palanquin and lightness of the weight.

f) How the bearers carry the palanquin?

g) Explain she floats ……..

2. read the lines below and answer the following;

A chieftain to the highlands bound,

Cries “Boatman do not tarry!

And ill give thee a silver pound

To row us o’ er the ferry!”

a) who is the chieftain

b) Where was he going and why?

c) What did he offer the boatman and why?

3. read the lines below and answer the following:

I came from the haunts of coot and hern

A make a sudden sally

And sparkle out among the fern

To bicker down a valley

a) Explain “made a sudden sally”.

b) How does the brook sparkle?

c) What does bicker mean? Why did the poet use it here?

d) Name the poetic device.

4. Describe the character of Thanappa in the missing mail.

5. One month after the marriage Ramanujan writes a letter to kamakshi about what Thanappa had done. Draft a letter.

6. Why was Arun alone at the platform?
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